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Questions
1. (1% points) Chicago is a
A. state
B. city
C. country
D. continent
E. village
2. (1 point) Chicago is a
A. state B. city C. country D. continent E. village
3. (1 point) Chicago is a city.
A. True B. False
4. (1 point) Which of the following are plants?
O birds
O trees
O flowers
O fungi
O clovers

This text is

aligned to the left edge and applies to the next few questions.

5. (1 point) What is the greenhouse gas present in the highest concentration in the atmosphere?

6. (1 point)

7. (1 point) Why does this curve have a sawtooth pattern?
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Figure 1: This is an image
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is the most common greenhouse gas.
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8. (1 point) Why does this curve have a sawtooth pattern?

9. (1 point) Why does this curve have a sawtooth pattern?

10. (1 point) Why does this curve have a sawtooth pattern?

11. (1 point) Why does this curve have a sawtooth pattern?

12. (1 point) Why does this curve have a sawtooth pattern?
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